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110 0 0 2163 5.042 5.486 -397E3 1003 1003 0 0 34.90
[ 2 0.050 0.107 0.243 2.163 4541 5.030 397E-3 -10.03 10.03 1.155 0.265 11.29
I3 0100 0.216 0.457 2143 4039 4572 -0.012 -10.05 10.05 k29 0.506 -0437
[ 4 [0.150 0.321 0.649 2222 3.537 4177 -0.032 -10.05 10.05 1111 0.724 -0.523
5 0200 0.438 0.814 2302 3.034 3.808 -0.012 -10.04 10.04 1.076 0.924 -0.636
( 6 (0250 0852 0.956 2282 2533 3.409 794E-3 1003 1003 1.047 1104 -0.641
"7 0300 0667 1.067 2262 2031 3.040 794E3 1004 10.04 1.012 1.258 -0.700
| 8 (0350 0.778 1.153 2242 1529 2714 3.97E-3  -10.05 10.05 0.977 1391 -0.741
9 [0.400 0.891 1215 2242 1.026 2.466 -149E-3  -10.06 10.06 0.938 1.507 -0.810
{10 (0450 1002 1.253 2249 0523 2309 -546E-3 -10.05 10.05 0.896 1.605 -0.877
11 [0.500 1.116 121 2.269 0.021 2.269 -6.45E-3 -10.03 10.03 0.850 1692 -0.996
| 12 [0.550 |1.229 1.257 2282 -0.481 2332 -0.014 -10.04 10.04 0.797 1758 -1.129
13 |0.600 1.344 1221 2341 -0.983 2539 -0.012 -10.05 10.05 0.738 1816 -1.277
| 14 |0.650 1463 1.157 2341 -1.486 2773 248E3  -10.05 10.05 0.669 1.865 -1.396
15 |0.700 |1.578 1.075 2329 -1.988 3.062 248E-3  -10.03 10.03 0.598 1.909 -1.538
| 16 |0.750 1,696 0.961 2329 -2.489 3.409 1493  -10.04 10.04 0515 1949 -1.717
717 0.800 1.811 0.822 2321 -2.992 3787 -0.010 -10.06 10.06 0426 1.989 -1.856
| 18 |0.850 |1.928 0.660 2381 -3.495 4.229 4.96E-3 -10.06 10.06 0.330 2038 -1.982
719 [0.900 |2.049 0476 2346 -3.998 4635 6.94E-3 -10.05 10.05 0.228 2104 -2.079
| 20 [0.950 2163 0.265 2346 -4.500 5.075 -6.94E3 -10.05 10.05 0.122 2179 -2.167
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